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— == L S S T A a3 K s = =" | Do not write
| 2 | outside the
j, Answer all questions in the spaces provided. ba
|
I
‘ 7
] 1 Work out 4 x 5
!
1 Circle your answer. !
[1 mark] ,
28 2 2
36 36 9
4
2 Circle the value of (JE )
[1 mark]
i
12 10 V24
3 0.203 = 4 +x
; 5
Circle the value of x.
[1 mark]
1 ot o C‘%
300 3000 100 1
i v
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3
- iea = " ponoiwite
‘ outside the
4 Circle the correct statement. -
‘ [1 mark]
|
!
$ 3x =2 Axtx=2-x xtx-2=0
l
5 Divide 62 in the ratio 3:7
[3 marks]
S F =0
e lO =4l |
et s al fem Ty b0 =8
Qg T,
Answer ( 8=é and L), 4
Turn over for the next question
i3
Turn over »

LI

—_— ;4
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' 6 Here is some information about the time spent on social media by 40 women ’ o
; and 40 men last week. '
[ S = |
i Time spent, 7 (hours) Number of women Number of men i‘
1 2<t g5 12 10 l
L 5<1<8 11 17 1
8<t <11 14 9 ’ i
1M<t 14 2 4 |
- - 1 4
14< 1t 17 1 0 !
— i) |
|
Tick one box for each statement. }’
[3 marks] |
i
|
Definitely Might be Cannot be
true true true ‘
I
Three of the women spent \/ ‘
more than 11 hours on social media. 1
The range for the men is 15 hours. \/ '
The women have a higher median ‘
than the men. \/ <,
i
}
|
I 0 i
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outside the
7 The diagram shows the vectors a and b. g

As a column vector a= (3] 1

i
7 (a) What is b as a column vector?

\‘ [2 marks] |
i
% Answer o)
|
|
7 (b) Work out 4a as a column vector.
[1 mark]
|2 :
Answer ‘
g |
|
i
1
3
7 (c +c=
o wel]
Work out ¢ as a column vector.
Circle your answer.
[1 mark]
2 0 -2 0
0 2 0 -2
i o

Turn over >
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| i =y = . £ 8 P IR = . | Do not write
} Y et
‘ 8 Work out (E—E]‘g
| Give your answer as a fraction.
[3 marks]
i i d USRI ) e T
o .. %0 (g T =0
T e
30 0 30
(Bienniansombd -7 2 1SR
30 3 30 b 0
3
Answer L0
9 Work out all the integer values of x for which 12<4x< 25
[2 marks]
(e e 7S
(el RS e S o
Qi e G
Sa ks cred b‘;, e W
Answer /3, Lf, ‘; é
I i
E" e = - E i
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10 Here is some information about 120 people who visit a shop. \; =
|
% of the people buy neither a coat nor a dress.

19 people buy a coat.
14 people buy a dress.

Complete this Venn diagram to represent the information.
[3 marks]

¢ = 120 people who visit the shop
C = people who buy a coat

D = people who buy a dress

2o x 2 =90
R0 & [ ¥G.= 12 |

T s (R l&rger Sans 1O wsio %

rmase ke ia e e

=2 =i e =T =1

Turn over »

LI

== e T T e e
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8
Write© (3%x3%:37 intheform n:1 where n is an integer.
3 marks]
< 3} u T [
~( . o -
MAREE i el e o el
W=y . Z
N N T
& T |
AT ehoeed 1. 3 I
Answer g lv B 1
a is 10% more than b. .
Circle the ratio  a: b ?
[1 mark]

10: 11 10:1 {10

Workout  0.47+0.312

Circle your answer.
[1 mark]

- s i
0.782 0.789 0.7897 0.789 1

I St

.

| Do not write

outside the
box
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14 Craig wants to draw a graph, for values of x from -3 to 3, i
where the x-coordinate and y-coordinate are always in the ratio 2 : 1
Here is his graph.
y A !
6._...
5
i '
21
L w
0 S >
0= 1 2. "=3 X
Make two criticisms of Craig’s graph.
[2 marks]
Citidem1 [ hys & e dropbh o g= Lo
e mon R
NO = ek
Critcism2 (e %mlpt\ copoe; fromm O 6o 3,
B =2
7

Turn over »

I
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10

Show that  (3x +4)(2x - 5) — 11x(x — 2) + 5(x* ~3x— 1)  simplifies to an integer.
[4 marks]

Wz adx-5) —Ux(x-U +5 (*-2=-1) =
e (-5) te (x-5) - lse (x-2) 45 (> ,’3‘_‘_“_)_- o

Cre' - 1S 4l (2¢- 5 ) = % (=2 +5'(“ -3 -\ =
élt""gy +?7L-2O "”)((7"?'\‘\" 5(11'?1*‘) =

bx" -5y +8x -10 (13" + N+ 5GF-3x-1) T

é)(l— (S,( # 0 = 10 ="1l5" Fllx + B)cl - Bx-5-

(éx‘-ll,%&c‘) + (A% +8x 42> -15%) ¥ (<20 -5) =

M 6-U45) + ~ (-15+8+22-15) — 715 =

Evg s S =

2

10

1B/M/Nov22/8300/1H
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16 A graph has the equation y=x2+px+r where p and r are constants. i
The graph passes through the points (0, 4), (1, 3) and (8, w)
Work out the value of w.
[4 marks]
gz +pr4r
Q;O’*Ox,ﬂw 2:‘—2+P’<‘ +rr
Lo 2 O8O /-) 2;(14-()(' 4 4
v o / B + 0 th
<'a 5 +—p
gz =
1 b }
l(;} =% 0 -Zx + L
¢ 5
T e
KAz BEZ 6 %l
Ly Bk
e o
Turn over for the next question
T
Turn over >
11 1B/M/Nov22/8300/1H
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{ 17 The table shows information about the heights of 60 athletes.
' Height, i (cm) Frequency
| 150 < h < 160 4
| L LR e
| 160 < 4 < 170 e
’ DO TR S A T T 1| Ve _\
’ 170 < h < 180 35
180 < h <190 7
190 < h € 200 2
17 (a) Complete the cumulative frequency table.
[1 mark]
Cumulative
Height, /& (cm) frequency
h <150 0
h <160 4
h <170 16
h < 180 51
h< 190 54
h < 200 é O
!
17 (b) Circle the class interval that contains the lower quartile.
[1 mark]
150 < h < 160 170 < h < 180 180 < h <190
T B

| Do not write

outside the
box

LD
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o | Do not write
ouls:;:lha
17 (c) Draw a cumulative frequency diagram to represent the data. |
j [2 marks]
A ! == e B a = = m ) L
| 60 | l . —
[ j DI BRI SR B —~— et
|
\ /’M
55 t+— T T ‘*"'“'——7/——-*—-' F B @Y BN
50— — ~—-~~—/~-_
45._..._— - [ - / L ik e
H0{+—F—T—1T""T""T g e
Cumulative 35+—F——F————Ft—1——F—+— - T
frequency {533
30 a
| i
25 t
' 1 / |
20 v I
! 15 , / {
‘ SREERERA N ; 1
10._4_.«,ﬂ.-.7-: HETT AT A~:——:-«-47-»--ﬂ.— L - REEEN S o
A ok
5 — 7 . } T
o ATt T S : .
0 150 160 170 180 190 200
Height, /7 (cm)
17 (d) Estimate the number of the athletes whose height is more than 176 cm
[2 marks]
(A e s ok 3  feguency
(O - 36 = U
Answer 7/(*
6
Turn over >
i o

]
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A road has three sections, D, E and F.
The lengths of D, E and F are in the ratios

D:E=3:5 E:F=7:4

What fraction of the length of the road is section D?

g SIN—————- L

[3 marks]
DiE =305 Eait: 0Lk
PivE =21 28 E'LFeaRE5 90
DIEY EF =Pl 8%} 20

2l £35+20 = -6

-

S

pq b

Answer

e

Do not write
outside the
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| Do not write
5 -2 uuwbz:mo
119 (a) Work out the value of (ZJ
[2 marks]
B o RN T SRR v
( ?) =l$ . S L.
|
| I
| Answer 15
3
? 9 \2
119 (b)  Work out the value of (——J
‘ 100
[2 marks]
S % P-4
2 T % -3
Al i P E (N e R
— S i - ——
(100) e ()"~ 16>  Ooo
LF
Answer [0%e'%)
Turn over for the next question
T
Turn over »
A -
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20 The only solution to P+bx+c=0 is x=-15

Work out the values of b and c.

S Tielsg ke (SRR

[3 marks]

ks ‘l’{a)( i€ & =

¢ 30 %

A LS

L=30

R

30

b=

22>

21 Convert 0.6‘.1 to a fraction.

[3 marks]

ek o el
(Ox=6- 1

(00 »= éll

(OO > £ 1O :é(_; L]

Vo5, =55
£s
e
ol
0l
Answer lg

LI

1B/M/Nov22/8300/1H

Do not write
outside the
box




mmerevise.co.uk

n =% 8 q f 3 i ] [ Do not write
outside the
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22 (4, 8) is a point on a circle, centre O.
The tangent at (4, 8) intersects the x-axis at P.

:
TS,
N

Work out the x-coordinate of P.

Not drawn
accurately

[5 marks]

£

6-(&0“‘3"(1 oc PM(‘WS T e

Answer 'Z,O

Turn over »

17

1B/M/Nov22/8300/1H
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23 4 x sin 30° x tan 30° x cos 30° =sin y P
Work out one possible value of y.
You must show your working.
[4 marks]

b gineé) il Bt ) o ey (300) = Sl (‘j)
Son (?00) 5 _'\':

Answer %O degrees

L

1B/M/Nov22/8300/1H
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| s
Triangle ABC is drawn on a grid. ‘ box
}
|
10- f
o |
o |
; |
6
5 |
41 |
A 3 A ’
[ [
¥ B\¢" C1 i ¢ g’ '
09 8 7 b \f 5 210] 123456788 M0 F |
| e |=9: :
- =3+ i
W Ll
_5 1
gl |
7. |
- O
i |
-104 ;
ABC is transformed to A'B'C' by a reflection in the line  x=1 ;
A'B'C' is transformed to A"B"C" by a rotation 90° anticlockwise about (1, —4) "
Which one point on ABC is invariant under the combined transformation? :
You must show the result of each transformation on the grid. ‘
[4 marks] l
Answer B_M 5 oEh, 30 o ‘
|
=
Turn over »
1B/M/Nov22/8300/1H
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25 (a) Solve x*-5x-6<0
[2 marks]
T
< S Lwe-6 £ 0
(*x—w( x«\\ £ 0
Colbiral Valu e< X~ -l , x=6
Answer =\ LXK EC
25 (b)  Show the solution to ¥ —-5x-6<0 onthe number line.
[1 mark]
!
I
|
rm—Tr—T-TrTTT T 5T 1T T T T T 1T T 1%
L0 G iaBr e ol b 8 B 84 ThL 0 7 e
»
I
|
|
|
[
2 0 1B/M/Nov22/8300/1H
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circle.

—

Not drawn
accurately

[4 marks]

Do not write
outside the
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=
21
‘ 26 P, Q and R are points on a circle.
f SP is a tangent to the circle.
; RQ = PQ
! R Not drawn
I accurately
Q
2x
S P
Prove that y=90°-x
[4 marks]
RfQ = g l<Osceles  &lomla
= o° i
?.’)(‘\‘“}/-F;{, ¥y i S op  orgleg ‘\,\Gn%_
?/X A LL‘/ = ’go
Y, =
3w _+uy =40
a
U = Cl & g o &3
[
(L iy
= 1B/M/Nov22/8300/1H
-
T ————————
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’ 13 2
rk out 2— - —
Work ou TG
Give your answer in the form a—;{—g

where a and b are integers.

[4 marks]

<3 2 o d_?@ 2
Lo T g T VE
A R e
e SN T
R e el
Vi B & =
VR TR I
I e "o 1o
A S
. B BT
Jqs e ',/ |
G 5 T
775
Answer 10

END OF QUESTIONS

2 2

1B/M/Nov22/8300/1H
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